The Association of Corporate Treasurers CPD Exit Test


MM Cashflow Forecasting

Worked Solutions
Question 1 

You are concerned about whether your company will generate or consume cash next year.  You recently completed your calculations and found that your cash position should be neutral, in other words that cash would be neither generated nor consumed.  Since then you have discovered that an extra one-off payment of £11.5 million must be made next year.  You have also discovered that it may be possible to rein back the credit period given on sales from 60 days to 30 days with no resultant impact on sales level (expected to be £156 million next year) or profitability.

What is the net result of these two changes?

(a) Cash generation of £0.7 million

(b) Cash generation of £1.3 million

(c) Cash consumption of £0.7 million

(d) Cash consumption of £1.3 million

(e) Don’t know

Answer

The right answer is (b) Cash generation of £1.3 million.

The investment in debtors at 60 days is 16.44% of annual sales.  At 30 days this falls to 8.22%.  The reduction in cash requirement is 8.22% of sales, expected to be £156, i.e. £12.8 million.  This will represent an inflow of cash during next year.  Coupled with the one-off payment of £11.5 million, this will result in a net generation of £1.3 million.
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Question 2 

For the following items, show which are accounted for as sources of cash and which are accounted for as uses of cash.


Depreciation charge

S or U


Increase in debtors

S or U


Increase in trade creditors
S or U


Increase in dividend payable
S or U


Increase in cash balance
S or U


Decrease in bank loan 
S or U

Going down the list, which of the following correctly allocates each as a source (S) or a use (U)?

(a)
SUSSSU

(b)
SUSSUU

(c)
SUUSSU

(d)
SUSUUU
(e)
don’t know

Answer

The right answer is (b)
SUSSUU

Depreciation charge is a deduction from the P&L without involving a cash movement.  Therefore, as far as the cash flow is concerned it appears as a source of cash.  An increase in debtors is a use of cash, more cash is owed to the company (i.e. not been received).  An increase in trade creditors is a source of cash as cash has stayed within the company rather than been paid out. Similarly an increase in dividend payable is a source of cash.  An increase in the cash balance is a use of cash; it is an asset that has increased.  A decrease in a bank loan is a reduction in a liability, cash has been paid out to achieve this, and thus it is a use of cash.

The key point to note is that if an asset increases it is accounted for as a use of cash.  If a liability increases it is accounted for as a source of cash (and vice versa).
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Question 3 

In attempting to forecast next year’s cash requirement you are confident of the level of pre-tax profit which you can expect and the level of capital expenditure.  You are less certain, though, of the level of the working capital investment which you can expect.

For a manufacturing company, which of the following definitions of the working capital investment would you use in this context?

(a)
current assets less current liabilities.

(b)
current assets excluding cash less current liabilities.

(c)
current assets excluding cash less current liabilities excluding dividends and corporate tax payable.

(d)
current assets excluding cash less current liabilities excluding dividends and corporate tax payable and any short term borrowings.

(e)
don’t know

Answer

The right answer is (d) current assets excluding cash less current liabilities excluding dividends and corporate tax payable and any short-term borrowings.

As an aid to forecasting, and for understanding how a company’s cash flow behaves, the definition of working capital is of fundamental importance.  The items included must relate to the level of trading activity; stocks, debtors and creditors.  The remaining items in the short half of the balance sheet, i.e. current assets and current liabilities (creditors less than one year) are not directly linked to the level of trading and therefore should be excluded.  The key issues here are the ability to forecast and the confusion which arises over whether an item is part of the investment or is funding the investment.  Short-term loans are clearly funding the investment, not a part of that investment.
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Question 4 

You have made the following assumptions in producing your forecast for next year’s cash availability.





Actual this year
Forecast next year






£m


£m

Sales 




£120


£128

PBT % Sales



7%


7%

Net working capital % sales

17%


18%

Capital expenditure


£3


£5

The depreciation charge assumed for next year is £4 million and the tax payment expected next year is £3 million.

Assuming that all relevant information is contained within the above assumptions, if your cash balance is currently £2.7 million, what do you expect it to be next year?

(a)
£10.3 m

(b)
£5 m

(c)
£1 m

(d)
£6.2 m

(e)
don’t know

Answer

The right answer is (b)
£5 m

Given the assumptions the cash flow is as follows:

PBT
8.96

Depreciation
4

(Incr) in net working capital
(2.64)

Capex
(5)

Tax payment
(3)


2.32

Given the initial cash balance the closing cash balance will be £5.02 million.

Answer (a) is the result of assuming that the extra net working capital is an inflow rather than an outflow.  Answer (c) results from omitting to add back depreciation.  Answer (d) is the result of assuming a steady level of net working capital at 18%.  The extra investment is thus calculated as 18% of the sales increase rather than an increase from 17% of £120m to 18% of £128m.
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Question 5 

You are investigating the profitability of one particular customer who always pays late.  Your terms are that payment should be received 30 days after the invoice.  This customer, though always delays payment until 60 days.

On average during the year this customer has one payment outstanding within the normal credit period and another outstanding which is overdue.  This means that, again on average, the customer always has one overdue payment outstanding.  The average order size for the customer is £2000, your sales margin is 6% and your effective interest rate is 10%.  What is your net margin for this customer?

(a)
6%

(b)
4.67%

(c)
4.36%

(d)
4.04%

(e)
don’t know

Answer

The right answer is (c)
4.36%

The cost of carry of the debtor for 60 days is:


£2000 ( 60/365 ( 10% = £32.88

This gives a net margin of


(£2000 ( 6%) - £32.88 = £87.12,
i.e. 4.36% of the order.
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Question 6 

As treasurer for a large supermarket chain you are considering which factor to investigate most closely in order to produce your forecast for next year’s cash flow.  Some time ago your Board made the strategic decision to own properties rather than lease them.

Starting with the most in need of investigation and ending with the least, how would you prioritise the following factors?

A
expected sales growth

B
expected sales margin

C
level of capital expenditure

D
level of net working capital

E
interest rates

(a)
ABCDE

(b)
ACDBE

(c)
DBEAC

(d)
BEADC

(e)
don’t know

Answer

The right answer is (b) ACDBE

For a supermarket the sales margin level is likely to be fairly constant except in times of a price war, which is likely to be difficult to predict.  Similarly, most supermarkets’ net working capital ratios vary only slightly over time.  Growth, however, for a supermarket is likely to be expensive in cash terms, combining a cash contribution from the working capital cycle but a major outflow involving new stores and new fittings plus new distribution facilities.  This is therefore closely linked to capital expenditure.  In fact a good treasurer might investigate both areas to make sure that he is getting a consistent picture.  Most supermarkets are not heavy borrowers and so the level of next year’s interest rates will be of less significance – even assuming that more effort would result in increased accuracy of outcome.
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Question 7 

You have been looking at the cash flow for a company which is a potential acquisition.  You have noted that for the past two years it has achieved a positive cash flow after investment in capex and working capital.

Which of the following holds most true?

(a)
The positive cash flow is an unqualified “good thing”

(b)
The positive cash flow is an unqualified “ bad thing”

(c)
The positive cash flow could be a result of high profitability or too low capital expenditure

(d)
The positive cash flow is a requirement for an acquisition

(e)
don’t know

Answer 

The right answer is (c) The positive cash flow could be a result of high profitability or too low capital expenditure

Cash flows, after expenditure on fixed and working capital, which are either positive or negative can never be regarded as unqualified “good” or “bad” things.  They can only be interpreted in the light of other factors such as growth, level of working capital and adequacy of capital expenditure.  Thus the positive flows could be the result of high profitability, too little capex – or it could be a sign of declining sales and consequent reduction in the need for working capital and capex.
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Question 8 

You are treasurer of a manufacturing group at a time when inflation is relatively high at 10%.  Your fixed asset intensity is about average for the sector at 50% and your working asset intensity is slightly above average at 25%.

Sales last year were £100m and PBT was £14m.  The average asset age is 2 years and you know that industry competitiveness forces you to maintain your fixed assets no older than this.   Depreciation last year was £5m and you expect the charge this year to be £5.5m.  

Allowing for a tax payment which you expect at £4.5m, and a dividend payment of £4m which is already partly committed and no real growth in your business, what level of PBT % Sales is necessary this year to break even in cash terms?

(a)
9%

(b)
10%

(c)
11%

(d)
12%

(e)
don’t know

Answer

The right answer is (c) 11%

Excluding PBT, this year’s cash flow will look as follows, based on this year’s inflated sales figure of £110m.

Depreciation
5.5

(Incr) in net working capital
(2.5)

Capital expenditure
(6.65)

Tax
(4.5)

Dividend payment
(4)

Total Outflow
12.15

In other words, the PBT must be £12.15m in order to break even in cash terms, i.e. 11% of the inflated sales figure (12.15 / 110 = 11%).

The net working capital increase of £2.5m as given by the increase in sales (£10m) multiplied by the ratio of net working capital to sales of 25%.

Capital expenditure is 1.21 times this year’s depreciation figure because the average asset is 2 years old.  Depreciation is based on historic costs and over the 2 years inflation will have increased the asset cost by (1 + 10%) 2.
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Question 9 
What is the “distribution model” of cash forecasting?

(a)
A method of using probability to estimate which day particular cheques will be presented

(b)
A method for estimating the seasonality of cash flows

(c)
A method for estimating peak intra-day cash movements

(d)
A method of deriving a consensus model from many independent forecasts

(e)
don’t know

Answer 

The right answer is (a) a method of using probability to estimate which day particular cheques will be presented.
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Question10

What is the difference between the following two refinements to the moving average forecasting technique?

A
regression

B
exponential smoothing

(a)
A looks backwards, B looks forwards

(b)
B looks backwards, A looks forwards

(c)
A uses all observations equally, B gives more weight to some observations than others

(d)
B uses all observations equally, A gives more weight to some observations than others

(e)
don’t know

Answer

The right answer is (c) A uses all observations equally, B gives more weight to some observations than others

Both refinements can only use historic data; therefore they both look backwards.  Regression is a method of attempting to identify and explain the relationship between two variables.  Exponential smoothing gives more weight to more recent observations in an attempt to improve the quality of the forecast.
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